Pyrite (FeSy, C2) Structure:
AB2 cP12.205_a_¢-001

This structure originally had the label AB2_cP12_205_a_c. Calls to that address will be redirected here.

Cite this page as: M. J. Mehl, D. Hicks, C. Toher, O. Levy, R. M. Hanson, G. Hart, and S. Curtarolo, The AFLOW Library of Crystallo-
graphic Prototypes: Part 1, Comput. Mater. Sci. 136, S1-828 (2017). doi: 10.1016/j.commatsci.2017.01.017

https://aflow.org/p/M44S
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Prototype FeSq

AFLOW prototype label AB2_cP12_205_a_c-001
Strukturbericht designation C2

Mineral name pyrite

ICSD 15012

Pearson symbol cP12

Space group number 205

Space group symbol Pa3

AFLOW prototype command aflow —--proto=AB2_cP12_205_a_c-001
--params=a, Ty

Other compounds with this structure
AuSbhy, CaCs, CoSa, CoSes, FeSa, MnS,, MnSes, MnTes, NiSsy (vaesite), NiSeq, OsSa, OsSes, OsTes, PdAss, PdShy, PtAss,
PtBiy, PtP5, PtSby, RhSs, RhSes, RuSs, RuSes, RuTes

e FeS, has been found in at least four forms:

— atriclinic (P1 #1) phase,
— a low temperature lorthorhombic pyrite phase (Bayliss, 1977),
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— the most commonly observed state, cubic pyrite (C2) (this structure), and

— orthorhombic martensite (C'18).

e We have rewritten this page to include the original source of the data from (Brostigen, 1969). Previously we only
referenced (Bayliss, 1977).

Simple Cubic primitive vectors

al
33
a; = axX
az = ay
ag = az
Basis vectors
Lattice Cartesian Wyckoff Atom
coordinates coordinates position type
B, 0 = 0 (4a) Fel
B, $ai+ jag = saX+ a2 (4a) Fe I
Bs %a2+%a3 = %ay—kéai (4a) Fel
B4 %al +%ag = %a&+%a§r (4a) Fel
Bs Toa; + Toag + x5 as = axo X+ axrey + axs (8c) SI
Bs —(z2—3) a1 —wpay + = —a(zy— %)X —arsy+a(za+3)2 (8c) SI
(z2+ 3) a3
B~ —x2a1—|—(m2—|—%) as — = —axzk—ka(xg—k%)y—a(xg—%)i (8¢) S1I
(22— 3) as
Bs (xg—l—%) al—(xg—%) as—Tpaz = a(x2+%))‘c—a(x2—%)y—ax22 (8¢) S1I
Bg —Zoa] — Ty ag — To A3 = —azro X —axey — axg Z (8c) SI
Bio (x2—|—%) al+.1?232—(1}2—%) ag = a(xg—&—%) )Ac—l—awgy—a(xg—%) Z (8c) S1I
Bi1 :vgalf(xzf%) 32+(I2+%) az = axzifa(:ch%)qua(quL%)i (8¢) SI
B2 —(1'2—%) al—ﬁ—(:cg—}—%) a+ = —a(xg—%)i—i—a(xg—i—%)y—l—axgi (8¢) S1I

T2 ag


https://aflow.org/p/AB2_cP12_205_a_c-001
https://aflow.org/p/AB2_oP6_58_a_g-003

